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Question: 1

Which type of workload does lometer that is configured to generate 4 K blocks, 50% read. 50% write,
and 100% random operations represent?

A. Bulk data load of a database table
B. OLTP

C. OLAP multidimensional cube

D. Extract, transform, and load

E. Data warehouse

Answer: B

Question: 2

Which technology has had the weakest performance growth since the year 20007?

A. Hard drives

B. Memory

C. Bus

D. Broadband wireless
E. Network

F. Processors

Answer: A

Question: 3

Which two systems does Hadoop consists of? (Choose two.)

A. Atlas

B. Map reduce

C. ZFS

D. HDFS

E. A snowflake schema systems engine
F. Astar schema systems engine

Answer: B,D

Question: 4

Which settings must be configured on the management interface bond?

A. IP address, subnet mask, MTU,mode,and boot order
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B. IP address, subnet mask, MTU, and mode

C. IP address and subnet mask

D. MAC address. IP address, subnet mask, and MTU
E. MAC address, subnet mask,MTU,and mode

Answer: A

Question: 5

Which statement about the creation of a new LUN when enabling LUN mirroring is true?

A. The new LUN must be created on a performance node.

B. The new LUN must not reside on the same scaling solution node as the original lun to be mirrored.
C. The new LUN mustreside on the same scaling solution node as the original LUN to be mirrored.

D. The new LUN must be created on a data reduction node.

Answer: B

Question: 6

Which three options are three functions of a Cisco UCS Invicta scaling system router? (Choose three.)

A. RAID

B. Error correction

C. Mirror protection

D. Replication

E. Host connectivity

F. Power fail data protection

Answer: C,D,E

Question: 7

How does Cisco UCS Invicta v5x provide scalability?

A. Scale up

B. Scale out

C. Scale up/scale out

D. Only half of the drive bays are populated when shipped by Cisco, allowing the customer to
purchase additional drives to expand capacity when needed.

E. Scale down

Answer: C

Question: 8
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Which two options are two characteristics of Hadoop? (Choose two.)

A. It relies on complex star schema designs to efficiently handle decision support queries.
B. It relies on distributed parallel processing.

C. ltis a very large OLTP database engine.

D. It relies on a few very expensive compute platforms.

E. Itis a single appliance that integrates both software and hardware.

F. It is an open source, batch data processing system.

Answer: B,F

Question: 9

For which option does Cisco UCS Invicta provide a virtual IP address?

A. VIPs are not supported.

B. For NFS shares

C. For iSCSI targets

D. For management interface

Answer: D

Question: 10

What is the maximum number of SSDs that can be installed in a Cisco UCS Invicta appliance?

A. .24
B.12
C. 16
D. 22
E. 36
F. 48

Answer: A
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